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1. Progression



Q.1 If the ratio of sum of n terms of two A.P’s is (3n + 8) : (Tn + 15), then the ratio of 12 terms is-
(A)16:7 (B) 7:16 (C)T7:12 D)12:5




Sol.

[B]

Proper Method Short Trick
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Q.2  If the ratio of the sum of n terms of two AP’s is 2n : (n + 1), then ratio of their 8" terms is-
(A)15:8 (B)8:13 C)n:(n-1) MD)5:17




Sol.

[A]

Proper Method
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Short Trick

Oy  2n

S, n+l

:>'Tn _ 2(2n-1)
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n




Q.3 The sum to infinity of the following series 112 + 213 + 314 + .... shall be-

(A) oo B) 1 O© 0 (D) None of these




[B]

Proper Method
1 1 1

n = + - 5 R
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Short Trick
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1 1 1
+—+ -
1.4 47 7.10

@) % ®) 1 ©) % (D) None

Q.4

....... upto oo terms is-




Sol.

[C]

Proper Method Short Trick
n = : . l a4 . F sonees : A= e <o
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Q.5 If AM. between p and q (p = q) is two times the GM, then p : q 1s-
A)1:1 B)2:1 C)2+43):2-43) D)3:1




Sol.

[€]

Proper Method
Let AM of p and q is A and G.M of p and q is G then

By o pjrq’G:@

Given that é— = ?—
G 1

p+q _ 2
~ofpq 1
Using componendo & dividendo
p+q+2ﬁ 2+1
~ pra-2Jpg  2-1
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Z
= again using componendo & dividendo
_ Wptyo+Gp-ya) _V3+1
T W) W31

Short Trick




a+b .
18

Q.6 If the arithmetic mean of two numbers a, b ; a > b > 0 1s five times their geometric mean, then

a—b

equal to —

()—[— (B)——£ (C)% (D)—J:




Sol.

[D]

Proper Method
Let AM of a and bis A and a.m of a and b is G then

A= a;b,cﬁ@

Given that é— =é
” a+b :_5_
24/ab

Using compounds & dividends

a+b+@ 5+1

—_—>—_
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Short Trick
AM 5

GM 1

3#5+\/ﬂ
b 5-424
a+b 5v6
a-b 12
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e
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= again using compounds & dividends
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Q.7  The fractional value of 0.125 1is-
(A) 125/999 (B) 23/990 (C) 61/550 (D) None of these




Sol.

[Al

Proper Method

Let

x =0. 125

s x=0.125125125

-, 1000 x = 125.125125125
Now (i1) — (1); 999 x = 125
s x = 125/999

Short Trick

or s 2ol 125

0.125 =
999

999




